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Simplitying Radicals

Definition of b : For any real number b and
for any integer n>1, btr=x/py (\,,\ \P

n
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Express each rational exponent in radical B
form:
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Express in exponential form:
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Simplitying Radicals
Definition of bmn : For any real number b and

for any integer n>1

Express each rational exponent in radical
form:

A=

—_—

2) 2%‘y%z% NE 27
3

) 2%

5‘93@2% TV E

Oct 3-5:04 PM

An expression that contains a radical sign ()
is a radical expression.

The expression under a radical sign is a

radicand.
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Simplest form of a square root expression: Simplify:
An expression containing square roots is in simplest form 1.424
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